YAMAHA

ELECTRONIC PIANO
P

SERVICE MANUAL

006480 'RT 197 7 W Printad in Tanan &






N,

CONTENTS

CORDINGGUIDE . ... .. i 1
SPECIFICATIONS . . ..ot 2
ASSEMBLY PROCEDURE . ..... ... ... .. .. ... . . .. 3
DISASSEMBLY PROCEDURE .. ............ ... ... ... ...... . 4
PANEL LAYOUT .. ... i, 6
PART NAMES AND FUNCTIONS . ... ... . . 7
BLOCK DIAGRAM . ... . i, 9
TECHNICAL EXPLANATION ... ... ... ... . 10
ADJUSTING THEMECHANISM . .. ... ... ... .. . . 14
BASIC ADJUSTMENT PROCEDURE (ELECTRICAL) .. .......... 15
IC DATACHART .. e, 16
DM Circuit Board & Wiring . . . ... ... .. 17
DM Circuit Diagram ........... . .. . . . . 18
EFT Circuit Board & Wiring . . . .. ... ... .. 19
EFT Circuit Diagram ............. . ... . . 20
PN1, PN2 Circuit Board & Wiring . . ... .. ... 0 21
PN1, PN2 Circuit Diagram .......... ... ... .. . 22
MK1, MK4 Circuit Board & Wiring, Circuit Diagram .. ................ 23
JK1,JK2, AC  Circuit Board & Wiring, Circuit Diagram .. ................ 24
DC Circuit Board & Wiring, Circuit Diagram . ............ ... ... . ... 25
Parts List



cP25

CODING GUIDE

(1] Wiring Notation

TP23
£ »tFO}

P ica-3y Ry

e ook e S0 2SS

Symbol Description

Terminal name on the Circuit Board

— Circuit Board name of destination
to PNT 1/2-LF1

“\__Terminal name on the destination
Circuit Board
Color code of the wire

Note: Types of wire

8L Ordinary wire

BL
———— Shield wire

£
£ C 8 . E: Emitter .
Transistor s 118} ol C: Collector Capacitors —8—
3 £ LB B: Base ™ Polarity
& Tantalum capacitor
s o NP : Nonpolar capacitor
R S: Source
FET [o[oER O G: Gate —4
D E D: Drain Mylar, ceramic or
polystyrene capacitor
B
. 0/’9‘ o8 B Break
Diode e — Switch ¢ ot T Transfer
) o oM M1 Make
{Zener Diode) "
B} Abbreviations of Wire Color Codes
BLACK({Z 1O > .................... Bl BROWN {(F = B LR R RN 8R RED (7 FE Y e e RE
ORANGE( 5 A / ................. OR YELLOW s \/ ........................ YE GREEN{ Ik \ .................... GR
BLUE (7 j > ..................... BE \‘}!OLET { L 3 t .......................... \/! GRA\( (/\ ,{ ‘ ..................... G\(
WHITE LS D) s Wi GRASS GREEN( Z HF)-ooe s GG SKY BLUE(Y 5 5B
PINK R E ) womvene o PK TRANSPARENT( F 77 A A Yoo TR
E3 Relation of Color Coding and Notes
C c- ] D= E F F= G G= A A= B
; | | 5 E \
BR RE OR Yi GR £ Vi GY W GG sB PR
(Fo) (PhAy (F4) (10 (2 p) (TA) (LF) (ng) (o) (24%) {/3) (£%)
Logic Symbols Exciuswe OR NOT
(e AOERTERD) {invertar)
[*3
s TR A a0
CE A
NOT A —-4>0» v A —§>O~ 4 Truth Table Truth Table
A -] v A ¥
: Ay . a—fTN :
v | 3 | o R T
) 2 AT L H #
PAND SDY S“‘Lt/pq H H L H L,
OR NOR AND NAND
N
L L =D =D
Truth Table Truth Table Truth Table Truth Table
a B Y & 8 ¥ £ B Y & B Y
L L L L L H L L L L i b
# L H H L L H L L H L H
i H H L H L L " L L H H
H H H H H L H H H H H L

Electrolytic capacitor




SPECIFICATIONS
KEYBOARD  ..... 61 keys (Eq ~ Eg)
Velocity-sensitive touch response
SINGLE mode . .... 16 note simultaneous output,
max.
DUAL mode  ..... 8 note simultaneous output,
max.
CONTROLS
MODE ... DUAL/SINGLE selector
PITCHI
PITCH II
DECAYI .. ... 8 position switch
DECAYH ..... 8 position switch

CP25

SIDE PANEL
FOOT SW TREMOLO
FOOT SW SUSTAIN

QUTPUT 1., 2 ..... 1/4" phone jacks
PHONES  ..... 8 ohms or high impedance
headphones
LINE ON/OFF
POWER REQUIRE- ... .. U.8. & Canadian models
MENTS 120V 50/60Hz 22 Watts

General model
Selectable (100, 120, 220 or
240V) 22 Watts

TREMOLO SPEED DIMENSIONS ... .. 41-7/8" x 7-1/2" x 23-1/2*
TREMOLO DEPTH (Wx HxD) {1,063 x 189 x 596 mm)
TREMOLO ON/OFF WEIGHT ... .. 90.4 tbs (41 kg)
FLANGER ON/OFF STANDARD . .... FC-4 footswitch
WAVE .. 4 position switch (A,B,C,D) ACCESSORY
FILTER  ..... 4 independent selectors
(1,2,3,4)
5TH,8TH ..... Independent 5th and 8th * Specifications are subject to change without notice.
transpose selectors
BALANCE . .... 1,2-—3,4
EQUALIZER . .... Continuously variable bass and
treble controls
VOLUME
Eg C C, C3 A;  C4 Cs Esg
| R N
EFG}ABCD{EFGABCDEFGABCD'EFiGA[BCDEF‘GiABCDE
Tt ! T
Lo Lo
- 1 ]
]
I T N A o©
; Loe0el?
£ n P
ﬁk £y 62 T
LN S PENLA )
@ 90
OO
&3° £ 88 7
halll - 3 £ 8.5
yd 5 3
oo —
T ag0®
5e0° 440H2




CP25

ASSEMBLY PROCEDURE

® Lay the CP25 on the floor as shown and open the lid ful-
ly by unlatching the two catches (1) and (2 .

® Remove the lid from the body by lifting it so as to slip it
off its rear hinges.
Provided inside of the lid are the AC cord, four legs and
the sustain pedal.

® Unscrew the fly nuts (D and (2) , and remove the legs.

® Place the main body of the CP25 on its back edge and
install each leg by screwing it into its hole in the body.
NOTE: When fitting the leg in the hole, make sure that
the thread and groove are in a perfect engagement.

® Set the CP25 upright and connect the output cord to the
amplifier and the sustain pedal.

@ ® Connect both the output cord to the amplifier and the
oL TAGE SELEGTOR sustain pedal. Set the voitage selector to the proper line
voltage of that area where CP25 is used and set the
switches and controls, And then connect the AC cable to
the AC INLET jack on the CP25 firmly,
(>SEE PAGES & 7}

{U.S & CANADIAN MODELS)



CcP25

DISASSEMBLY PROCEDURE

1. Opening the lid 3. Removing panel boards
Remove the 4 screws holding the lid. 1} Remove all front panel knobs, hex nuts and
Grasp the panel just above the keyboard and lift washers.
up. {PN1, PN4 boards)

4. Removing the switch assembly (MK board)
Use the stay provided to hold the lid. The stay Remove the shield paper.
provides two different lid angles. The switch assembly is divided into 3 separate
parts. Remove the screws of the desired section or
sections 1o be removed,

Switch assembly
retaining screws

2. Removing circuit boards
Compress the board holders with pliers to release
the boards. Switeh
cover PC

support
\ MK board

& Switch assembly

Switch rait



CP25

5. Removing the keys
Before removing any keys be sure to remove the
switch assembly, being careful not to damage the
switch contacts.
Remove the stopper rails and the key stopper
screws. Reinforcing hardware is attached to the
stopper rail.

Stopper rail

Key stopper /
Rk Adatn el

Be sure to remove the black keys before removing
the white keys.




£
{

CP25

TECHNICAL EXPLANATION

External specifications
The CP25 is an electronic piano with touch response, preset memories, and built-in filters. When the MODE
switch is set to SINGLE, output is from a single tone generator with 16-note polyphonic capability. When the
MODE switch is set to DUAL, cutput is from two tone generators with 8-note polyphonic capability.

Keyboard
There is a single keyboard with one make/break transfer switch for each key.
The touch-response effect is generated by counting the time between the make and break of the key switch
and generating the level of the note according to the time difference (velocity sensitive).

Key assigner & channel processor
LSI YM636 (CPA) detects the pressed keys and assigns their keycode data in chronological order to the 16
note memories.
The 16 locations each contain touch response, sustain pedal, and other data. Also, because the successive notes
are distributed among 16 locations, the IC calculates appropriate envelope times.

Tone generator
LSI YM722 (CPB) generates the music signal using the keycode data from YM636 (CPA) and touch response
data.
The YM722 can only handle 8 notes, so two of them are used for each channel to handle 16 {in the SINGLE
mode).
Two YM722s can also be used in paralle! to form a dual tone generator (as in the DUAL mode).
16 notes are output in parallel from YME33, with 1—8 going to one YM722 (CPB) LS! and 9—16 going to
another,
Applying VDD (—15V) to the CS terminal of the YM722s {pin 10) selects 1—8, while Vss (0V) selects 9—186.
In the CP35, IC16 and 1C18 apply to channels 1 through 8 while IC15 and IC17 apply to channels 9 through
16.

SINGLE MODE: 16 output channels of YMG36 correspond to 16 pressed keys.
DUAL MODE: Channels 18 and 916 carry the same data forming dual 8-channel tone generators.

The octave blocks have two outputs with completely different envelopes for attack and sustain.

- 10 —



CpP25

The table below gives the correspondence between output terminals, the notes output, and the output

envelopes.
Terminal Cutput note Qutput envelope
Sustain envelope
HS2 ¥ Eo~Ci CF~C:
SR cia Hs3 2 ¢ ~Co
—H- ci Hsa Y ¢l ~cCo E _ ov
B 40 & N
; HS5 —  C& ~Cs Approx.100mV {
: YM722 HS6 P2 CF ~Es {
; cPB
E HA2 & Eo~C: CF ~Co Attack envelope
: HA3 ¢ ~Cs
'szs 35 2 oV
c8B HA4 = C: ~C¢ Approx.50mV
2 csa HAS 2 ¢f ~C- e
Cis HAe ¥ CF ~Ee

e So that the charge/discharge times of the capacitors which determine the envelopes of the 8 intervals of
C1—C16 will not have any effect on the note envelopes, two capacitors are used for each note and are
switched alternately in and out.

® The basic waveform that will be used to produce all music signals is selected by the A, B, C and D positions
of the]l WAVE (PSW10) switch as shown in the diagram (in the DUAL mode}.

WAVE[1 | 11 ]
Cutput waveform

Sustain Sustain

@ output @ output
Attack Attack
output output
Sustain Sustain

@ output Bl output ‘
Attack ' Attack —
output ; — output ' L__,..,[ ;.-.--J me

1 period 1 period

® By using the CH-II Bth and 8th (PSW18, 20) pane! switches, the second channel can be shifted up a fifth
an octave, or a twelfth from the first channel {in the DUAL modej.

SET CONDITION OUTPUT NOTE RANGE
Channei [ E;, ~ A, ~Eg
® [5th|On Bo ~ E4 ~ Bg {up a 5th)
Channel II | @ [Bth)On E, ~ A, ~ E, {up an octave)
& [Bth [8th/On B, ~ E: ~ B, {up a twelfth)

N O




{,

Filters

CP25

The filter circuits are construced entirely of capacitors, resistors, and Op amps, in both filter and mixer
configurations. They combine the attack outputs HA2—HAGS and the sustain outputs HS2—HS6 and send them
to the filter select circuit.

Filter select circuit

The select circuit is a Schmidt trigger combining an “On” switch, a HAND and an inverter, plus a flip flop, an
indicator LED, and an LED driver with an Op amp multivibrator (low-frequency oscillator) for LED flashing.
FET gates (FET1—4, one for each voice} are turned on {0V} or off (—15V) to select the voice.

Mixing

Overall timbre of the signal from the output of the filter select and preset select circuits is adjusted by equali-
zation circuitry on the DM board. A simulated semiconductor inductor is formed by IC19 2/2 which,
combined with IC20 1/2, forms a peaking type equalizer. This equalizer creates a +10 dB frequency boost at

560 Hz.

Mode switching

{2 i 2 , FO1
- 1 : . s o]
+ 3
|3 1C26-1/2 :{'L 1C25-1/2
f P .1 Simulated Inductor
2~ |
A ; 1]

Lgrdy >
%3 1C24-1/2

Function chages resulting from mode switching.
Turning the MODE switch on or off results in the following function chages:

Mode Switching
DUAL SINGLE

MODE sSw LED lights. LED extinguishes.

Maximum number of notes 8 notes. 16 notes.

Operational tone generators 2 channels, 1 channel.

Knob Functions| [PITCH 1| Functions only in channel I. Functions in both channels I & I1.
[PITCH I} Functions only in channel 11, Has no effect on pitch.
@j Functions only in channel 1. Functions in both channels I & II.
m Functions only in channel 11, Has no effect on decay time.
@,@ Functions only in channel I1. Functions in both channels I & I1.

—12 —



CP25

KEYBOARD | €32
CPA

& Keys YME36
816

Wave Source

CH-1
c34
CPB N\
5TH,8TH YM?ZZ
P2 ; £2,E1,EQ
€
i
P gT“c 1ofsce
{
— stula Q: 12]5TH
" | :\;
1" ! o |4 ;k:-o_‘l@_”—- Wave Source
,,,,W_M,Tz J I 1e3 CH-1T
L L ) 8
] 33 J

o 2CPE CPR /

S STH,8TH]  YM722
ol izl £2,E1,E0
16213 7 et
°
seife —
el ulE
tE1E5 |
)
i
2e0ls -
—E=] N (6]
7 e
i
CAUTION

in the diagram, g‘~o— represents
an AND/OR select gate.

%o DUAL mode

S0~ SINGLE mode

MODE SWITCHING OPERATION
Key coder channel processor {YMB36)

DUAL MODE SINGLE MODE
When power is switched on, the LED lights and the When the MODE switch is pressed, the LED is ex-
PN1 board MODE terminal {C3-1) goes to Vs (OV) tingushed and the PN1 board MODE terminal {C3-2)
while the MODE terminal {C3-2) goes tc VDD goes to V88 {0V} while the MODE terminal {C3-1}
{(—15V 1. goes to VDD {—15V}.
The V5 lavel from the MODE terminal drives pin The VDD level from the MODE terminal drives pin
22 of 1C32 (YMB36.CPA) 8/16 to VsS. In this state, 22 of 1C32 (YMB36.CPA) 8/16 to VDD. In this state
the key coder/channel processor 1C (YMB36.CPA) the key code/channel processor 1C {(YMB36.CPA)
assigns 8-channel operation to the key coder assigns 16-channel operation to the key coder
function, and informs the CPB IC {(YM722) of note function, and informs the CPB IC (YM722) of note
initiation, initiation,

—-13 —



CP25

Wave Source (YM722)

DUAL MODE SINGLE MODE

The YM722 CPB IC generates a tone generator wave- Since the YM722 IC has 8-note tone generation

form based on the key code data. capability, its function in the SINGLE mode is

Since the YM722 IC has 8-note tone generation different from that in the DUAL mode.

capability, two CPB ICs must be used when in the Two CPB ICs are still used, but one (1C34) handles

DUAL mode: 1C34 for channel I and 1C33 for the first 8 channels {1 through 8) and the second

channel I1. Channel [ and channel II both use the {1C33) handles the last 8 channels {9 through 16) in

same key code data. response to the 16 channel key code data from the
YME36 IC. This results in 16-note simultaneous
capability.
Timing between the first and last 8 channels is
accomplished by switching levels at pin 10 (CS) of
the YM722: VDD for the first 8 channels and Vss
for the last 8 channels.

® Adjusting the velocity keying actuator

*NOTE: Actuator adjustment is preset at the factory, so no adjustment is required unless the key assembly is
replaced.

Actuator adjusting tool
{TX000070)

Switch cover
Key assembly

white key Key assembly Stopper rail rein-
black key Key stopper forcement hardware PC support
4
Frame | | ) \ MK board
Stopper rail ‘\
|\ Felt .
B8
! © H
! N 1 4
/ , N
{ / \
| i / Switch rail
Stopper feit Keyboard base Pivot rubber Support

CB0O2841 CB02784 Actuator

Use the actuator adjusting too!l to adjust the level of each key to be the same as the adjacent keys.

* If the level of a note is too low, lower the actuator by moving the adjustment too! forward. Lowering the
actuator results in higher velocity thereby increasing level.

* If the level of a note is high, raise the actuator by moving the adjustment tool back. Raising the actuator
results in lower velocity thereby decreasing level,

— 14 —



CP25

BASIC ADJUSTMENT PROCEDURE(ELECTRICAL)

1. Basic panel settings
Initial setting: When power is first turned on the following condition is obtained:

® Power indicator LED . ... Lights
® Mode switch{PSW1} LED... .. Lights (DUAL mode indicated)}
e Filter 1 (PSW11) LED . ... Lights
e Filter 3 (PSW13) LED .. . e Lights

When performing adjustments, all controls should be set as shown in the illustration and chart below except as

otherwise indicated.

ig;;; z
Ce o) @ ¢
e sl s sl ) YAMAHA
[TTTT) 6| 00| o) « | "weP25
Y
MODE (PSW 1) OFF BALANCE (PVR 17) Centered
PITCHI (PVR 2) 10 o’clock position BASS {(PVR 18) Centered
PITCHII (PVR 3) 10 o’clock position TREBLE (PVR 19) Centered
fully clockwise VOLUME (PVR 20) MAXIMUM
DECAY I (DECAY MAX)
, TURN THE 1/0 PANEL ON
fully clockwise LINE SW
DECAYII (DECAY MAX)
TREMOLO
SPEED (PVR 6) MINIMUM
TREMOLO
BEPTH (PVR 7) MINIMUM
TREMOLO (PSW 8) OFF
FLANGER (PSW 9) OFF
WAVE (PSW 10) f”(',')y;g‘s’;’f(‘)",’}‘)se
FILTER1 (PSW11) ON
FILTER2 (PSW 12) OFF
FILTER3 (PSW13) OFF
FILTER4 (PSW 14) OFF
| 5TH (PSW 15) OFF
8TH (PSW 16) OFF

_15 —




CP25

| Part VM722000 Function CPB (Combo Piano—B)

. Name Name Tone Generator
Terminal Terminal

:‘i:- Name /0 Description :,: Name 1/0 Description
1.vss | | |Ground (OV) 48 oM | |Master Clock (1MHz) s T e
2 ic I lnitial Clear 47 VDD | IDC Supply (—15V) —41C VDD}—
3 [KET | 1 |Key Code Data 46 |oCP ! Pitch Clock —KeT »CPl—
4 KC2 ! ~do, — 45 WSO | |Wave Select Data —{KC2 wso |42
5 KC3 ! - do, - 44 W§1 ! ~do. — Slkes WSTp—
6 KA 1 | —do.— 43 [Hs2 | O |{oundSopice Waveform —]|xea Hs2}—
7 bth UP; | |Transposition Data 42 HS3 O —do, — 2 —{5th UP HS3p—
8 [BhUP | | —do. — 41 HS4 | O ~do.— 3 —{8th UP Hsa|—
9 5 I |Synchro Data 40 |[HS5 | © —do.— 4 —sv Hss|22
10 T | 1 (Chip Selectd ooh, 918¢h 139 Hss | O ~do.— 5,6 s HS6|—
11 |[EO { Envelope Data 38 |AG2 I |Analog Ground —{EG g AG2}—
12 |ET I | —do.— 37 HA2 | O {aund Source Vaveform —{eT E HA2}—
13 [ED ! —do. — 36 HA3 | O —do.— 2 —E7 2 HA3}—
14 AG1 | |Analog Ground 35 HA4 | O —do.— 3 —Jact g Haal32
15 C1A I |Envelope Setting Capacitor 34 |HAS O — d0o, — 4 15] C1A HALBp—
16 C1B ! —do. — 33 |HA6 | O —do.— 5,6 —{c18 HAB—
17 |C2B i —do. — 32 -6V | | DC Supply (= —10V) —cz28B —5V|—
18 C2A | ~do, — 31 AMIN I IMinimum Level Setting —4C2A AM INF—
19 [C3A ! —do. — 30 |C8A I |Envelope Setting Capacitor —4C3A C8A 30
20 (3B | 1 —do. — 29 |c8B | | —do. — 238 csBl—
21 [C4B [ —do. — 28 |C78 : ~do. — —]cas c7B}—
22 (CaA [ —do. — 27 C7TA || —do. — —can c7A}—
23 C5A I —do. — 26 CBA | | —do. — —csA ceAl—
24 [C5B ! —do. — 25 |C6B ! —do. — 245 ces}®

MEMO

—16 —~



DM Circuit Board & Wining

& Connector

o1 ca c7 c8
G e 88 1. 8RO - - 1FF L BE I MKLE®(012) 1 FOZ S BE  PNIFO2(C68)
o RE - - - 2. & Vi MRIGELD 2 FO1 s Vi PN2FOT(C6s)
ENI- or 2, BRI BR MKIBRILIE 3. .67 LY (MKIGTE25 3 - = -
4 £ YE MKUE 14 CRE WKIMKI €37 4. A WHMKTA 024 4 sws BE  PNZSWS (C5-1;
H E GRMKIE L1 O | MKIBRZ (025 AT GG MELARC2Y g SWa RE PN2-GW4 {CB-2)
[o] & BAKZ YE MEL-MR2 (0343 6 B .58 MK18 (023 & Sw1t 08 PNISWT (42}
T P Wore et 7. BR3 GR  MKILBR3C3Y 7 [ PR MKRYCICEY 7 W2 GR | PNZSW2C4-3)
No.;  Nema Goler . 8 MK3 BE  MKIMK3 (L33 @ - - -
1] MODE BE  PN1-MODE (€33 I v wkasns (a8 3 - = -
2 mone 8L PNTMODE (C31) o Tmkn T Y kAR (657 [ = Z
3 02 VE P10z C1e
4 19z | BRPNLIO2(CIY - 8 B wncg -
5 20t OR PNIZOTCIE | e, Name | Cel | Destinstion P Pn LM% Gestination
§ 101 PR PNIAGLELD 1 BRE WH  MKA-BRS(C3E 1 vss GY | DCVss (C1-1)
7| 200 RE  PN1-20D (C14) 2 WKE | GG MKAMKE (034f 2. vss GY  povssICLE
8] 100 SE  PNIQB(CIY) 3 BRs 5B MK4BRG(C33 | 3 vop RE | DCVDD (C2-4)
g BTH ksl PRNZ-BTH {053} 4 WMKE PIC MKA-MKE (C2.2) 4 Yoo o RE DC-Voo (025
10 BTH | GR PNZETH (054} s may z = 5 Gno - -
o2 5wy = z 5 GND 8L DO-GND €46
" 7 +16Y - -
g JENG .l Destination o & 416V BR DG4IV (CA3)
TPV GRBNIPVI(CLT [l G Bt Destination Ty - -
vss - - ) 1 susT. | 5B UKSUST.(CLE) 70 18V YE  DC—15V (€33
3] vss YiPN1-Vss (018} 2 oK PK_ PNICK (C3.3)
4 Voo GG PNIVED(CT10) 3 - - -
5 Py BE  PNIPV2(C19) 4 WAVET  BR | PNOWAVE] (CA)
5 WAVED | YE | PNZWAVED (C4-4)
Notes)
® YM63600: 1C32 {See Page 16)
eYM72200: IC33, 34 {See Page 16}
@ TC4019BP: IC30, 31 .
Quadruple AND/OR Select Gate Cg
Logic Diagram 2SA1015{(0,Y): Trb
Ko K
P ps e 25C752(Y}): Tr1, 3
i
@
3 £C B
(TOP VIEW) Te. 25C509(Y): Tr2, 4
& TCA0818P: 1C29
Quadruple 2-Input AND Gate %
3 —— 14 . S
A ool Block Diagram 65
P b
4 5 25K 105(E): FET1~4
. wb—
sl e
Anode
i .
Hvss BN
(TOP VIEW) &\
Cathode
eNJIM4B58DV: IC1 ~ 28
. e 1515565: D1 ~ 40
Dual Cperational Amplifier
Logic Diagram
Haour  veel Al gureo 176 Bl e
YA BOUT— h |
B R ~ouT
“sup e i T
i ]
(TOPR VIEW)
GN d 5 w
TOP VIEW

KEP-NA10707-16 A\



MmO 0w

Electronic Components
Cabinet Assembly
Top Board Assembly
Keyboard Assembly

Sustainer Pedal

YAMAHA

ELECTRONIC PIANO

CP25
PARTS LIST

CONTENTS

€3 Printed in Japan



CP25

A. Electronic Components

B WO

Szf‘ Part No. Description 2 & B Remarks Cg;g;;?n Markets
NAI10.70:30 Circuit Board, AC #2891 AC ¥ - b ; n
NAI1070140  —do.— , —do. — —do. — i U
NA1GI70:80  ~do.~ , —do.— ~do. — 4 G
NA0:74:10  —do.— , —do. .~ — do. — u c
NA10:70.60  —do.— , PN #2892 PN & = b
NAI10/70:70 —do.— , DM #2893 DM ¥ = b
NA107080, —do.~ , EFT #2884 EFT o+ — b
NAI1070i90  —do.— , JK #2887 JK ¥ = b
NAI10i71{10  —do.~ , DC #2888 pc ¥ — J

| NAI10:71:20  —do.— , —do.— —do. — " ue
NA10i71:30  —do.— , —do.— —do. — " G
NBI10 135:20] Power Transformer Assembly #3851 BES > XAss’y G

| INBI10i35:30 —do. — #3940 " U
NB:I10 35140 —do. — —do. — u e
NBI81:i76:90, Switch Assembly 33 Key A 4 v F Assy
NBi81:77:10 ~ do. — 28 Key "

NBI8O :76i00 Switch Unit 6 Key 24y FL b

NBiBO 176110/ —do. — 3 Key n

NBiB1i75:70] —do.— 4 Key "

iG 0031180 IC TC4013BP ! C | 24nput NOR
iGi00:i13:90| —do. — NJMA558DY " o, Amp
iG00:17:00 —do. — TC4019BP i AND-OR Select Gate
iG 001740, — do. — TCA0508P " Hex Butler/
iGi00i17:60, —do. ~ TC4081BP l 2-input AND
iGi02:74:00 —do. — TA7220P i Amp

iG /02 8700, —do. «PC14315H " 15V Regolator

iG 103:13:00, —do. — NEB7ON " Compander

iG 103:29:00 —do. — #3290 & BED Driver
iG104:61.00 —do. — MN3009 " 256 Stage BED

iT 163:60:00] —do. — YM6E3600 " {(Keycoder Channe! Processor)
iT 7220100 —do. — YM72200 y Frome Generator)
iA 05109110 Transistor 2SA509(Y) P52 R

iA 10115170, —do. — 2SA1015(0,Y) "

iC i0508i200 —do.— 25C509(Y) "

iC 07521200 —do.— 25C752(Y) "

| iC 1811570, —do.— 25C1815(0.,Y) "
i€ 110i12i000 FET 2SK105(F) F E T
iF 000040, Diode 151566 5 4 A4 — F
iF 0010290 LED L E D | power tndicator
iH 000470 Diode 1D4B1 ¥ 4 * = ¥
iK 100103140 Photo Coupler P1501 R A
iL {00 :05:80] Mica Base v 4 B N - R
CB i07 (2880 insulation Busing 8 7 v oo
HSi31 04140, Variable Resistor B50KS2 O—%Y —&Ya—5b | TREBLE BASS
HS 131 (0580 —do. — ATOKS " MASTER VOL.

% New Parts (FH83

_1 =

=]
Bdh)

{J 1 Japan, U : US.American, C: Canadian, G ! General}




CP25

C

;:gf Part No. Description % & & Remarks o™ Markets
HS:31105.70 Variable Resistor B10KQ B—%Y—#KYa—b oo oepn .
HSi31:13:30 —do. — C100KQ " TREMOLO SPEED -
HS!31:14:20 —do. — BH10KOx2 " BALANCE
HT 37100120 Semi Variable Resistor B10KS ¥ B & & #
HTi37:01i00 —do., ~ B50KS "
HV§35 E43§30 Flame-Proof Carbon Resistor 330 TIRAL S — K I
HVi35 (52120 —do. ~ 2209 "
HZ:00:24{10, Solid Resistor 22MQ vy v F B
ED:65:22170 Polystyrene Capacitor 270PF RF O~ F Yy
ED 65 126180 —~do. — 680PF "
FL 63:64i70] B.P. Electrolytic Cap. 4.7uF/16V B.P. # % 1 »
FLI63i71i00 —do. — 10uF/16V "
FL63i72i20) ~do. — 22uF/16V u
FL 6616470 —do. — 4.7uF/50V U
FMI80 192120/ Electrolytic Capacitor 2200uF /36V y 3 a
UJ 115191:00 — do. — 1000uF /35V "
FZ:00i29:40 —do. — 6.8uF /25V " Low Leak
FZ:00i2250| Spark Suppressor Cap. 0.022uF AA=GFF-ALTF Y
FZ :00 2850 —do. — 0.0022F " U
KA{1010:60| Power Switch K7 - XAy F
KA:40:08:10, Slide Switch 4.2 254 F A4 Y F | Unesw
KA§40§08§30 Voltage Selector T O Y OB =B
KAI50:17:20] Rotary Switch 1.8 B=%1U—24vF pecavin
KAIB0:17:00]  —do. — 3-4 " WAVE
KA 90 117:01| Push Switch W/LED Gray 7oy ¥ a R A v F | MOPLIREVOLO FLANGER
KA90i17:11 —do. - White " PRESET
KBi00i0330] Fuse 1A 0y (B 2 - X J
KBi00:03i40| — do. — 1.5A 250V U s
KBi00i07{10| ~do. — (Miniature) T500mA 250V u g
KBi00i07i30] ~do.~ —do.— TIA 250V i G
KBI0O 10i60; —do. — 1A 150V " B uc
KB;00:15:90] — do. — 1.5A 250V u u.c
KC:00:13:00| Relay RZ-12 1y v -
GE 13010350, Choke Coil 68uH Fa-—-2a4n
GE:90:0340| OSC Coil 200uH osc. a3 4 »n
GE 190:05:00| Coil CK4 3 1 N
GE 90 :05:30] —do. — CK6 " B
MGi00i10i30] AC Cord ® FE 23 — F s
MGi00:10i40| — do. — " u
MGi00:10:50 — do. — " e
MG 00! 12:80| - do. — " c

# New Parts (33858



CP25

Szf.' Part No. Description By & & Remarks C::;g:jﬁ Markets
LBi20:15:40, Phone Jack JL2B > v v 7
LBI20;18:20 AC Inlet 2P AC 4 » v v LU
LBi20/18:60 —do. - 2p “ G
LB:20:05:70 Fuse Holder Pin Ea—XERy—E>
LBI20:15:30 —do. — "
LBi50:02:50 Connector Base Pin 5p 25EYFN—RE Y | TopEaty
LB60:2460 —do. — 7P 1 —do.
LB :60:24:90 — do. — 8P ” —do.-
LB:60:24:70 ~do. ~ 10P i —do.~
LBi50:02:70 —do. — 5P " Side Entry
LB:60:28:20 —do. — 6P " —do. ~
LB 5O 0370 — do. — 5p n Bottom Entry
LB:60:30:00 ~do. - 7P n —do. —
LB:60:30:70 —do. — 10p " —do.—
LB{50:02:40! Connector Housing 5p S BE Y FaT Ty
LB 602810 —do. — 6P "
LB:60:24i40 —do. — 7P "
LBi60i24:80 —do. — 8p "
LB 602450 —do. — 10P u
LB 60 :15140| Connector Plug opP sp 7 37
LB 601550 Connector Cap ap 9P * v v 7
LB 60 :40:40/ Connector Housing 8P Nz o U
LB{60:39:90| Connector 8p I 2 4 -
BB 00 14430 Pin Contact E>a>% 2 ¢
BB:i00:49:90| —do.— "
—do. — "

LBi60i16:70

# New Parts (FH B &R)

—3-




CP25
Markets

Common
Model

Remarks

mF K& M (E)

(&)
B

H

e

B. Cabinet Assembly

ot
2
=
a
=
Q
» |
S |- dx
1S
£ 3
@
2| £ -
@ 2=
M$Mb
2 <lsl b
OB T g
gl Q) i«
ol m S
Zlo g
ol € o
| W O
ol ool e
RN RN
O o~ wl~
Z | T TS
e olovl Ny oy
8§ |22 |0 0
&t «f <«
Oaon
S o
RN1234

# New Parts (373



CP25

zzf" Part No. Description ¥ & % Remarks C;:‘z?n Markets
# 5 INAI10i70i30| Circuit Board, AC #2891 AC ¥ -~ } 3
# NAi10i70i40, —do.— , —do.— — do. — "
* NAI10i70i50{ —do.— , —do.— —do. — "
# NAi10:741100 —do.— , —do.— —do. — " ¢
# NAi10i70:900 —~do.— , JK #2887 N
# NB§10§34 EQO Leg Assembly B st 4 7 Ass'y
¥ 8 NB§10§35§20 Power Transformer Assembly BEEPS o X Ass’y G
#  INBI10135:30 — do. — " "
* NB 103540 —do. — " ¢
9 INBI8O 5950 Handle Assembly W F Ass'y
10 INBI80 5960 Pedal Stopper Band REW ik F Assy
11 |AAI01i4690] Corner Angle A-F—F IR
#| 12 |AAI05125i50] 1/0 Panel t/0 < % n
13 |AA05 25160| AC Panel I B sue
AAI05 2570 - do. — " s
14 |AAI05 26120 Name Plate - b T L~ b
15 |AAI05 26130 Top Board Holder (L) ESL 24 A (%)
16 |AAID5 26140 ~do.— (R) " (%)
17 |AAID5i32:00| Handle Piate mFE R AR
18 |AAI05 i32140| Lock Plate Ry FL@TL—b
19 |AAI05 i32:80| Transformer Holder P3Oy RRU
#| 20 |AAI05 i34i60| Front Rail = &
21 |AAIB0:24i50] Lock Sy F L 8
22 |AAIBO i43i20! Holder, Pedal Stopper Band 5% & A
23 |AAiIB0i64i20| Latch Hinge 5l # & &
24 |AAIB0 7200/ Leg Flange W v 3 L o
25 AAEBOEQOEBO Corner Metal a -+ - & A
26 AAIB1147i70| —do.— "
27 |AAi81i54i10] Leg Adjust Nut W E F v b
28 |AAIB1i54:20| Leg Glide " % -
#| 29 |AAI05 26180| Leg Holder W & B & A
#| 29 |AAI05144(70] Leg Holder W ® & A
30 |AAI81154i60] —do.— W 2 4 A
31 |AAiB1:63100] Connector Holder IXL S RN Y —
32 |CBi01i03!10| Case Leg i
33 CBi81:i78i90| Spacer A R - Y =
34 IKA{10:10:60| Power Switch K- Ly F
35 |KA40 i0830! Voltage Selector ®E 9 OB B
36 |LBi20i18i20] AC Infet 2P 4 » v v b Juc
LB 201860 — do. — " G
37 |MGi00:10:30| AC Cord ® B 3 — F J
MGI00:10:40| — do. — " u
MGi00 {10i50| — do. — " G
MGi00:12/80] — do. — " c
38 |EAi34i01i50| Pan Head Screw Max15 BL | 7 N~ A & U
39 |EB 23101140 Flat Head Screw M3x14 _ Cr m R Fx s
40 |EB35:i02i00] —do.~ M5x20  BL "
41 |ECi23:01i60] Truss Screw M3x16  Cr LA S (O S
42 |EC 33101120, —do. — M3x12  BL "
43 |ED (23101140, Bind Screw M3x14 _ Cr AT R T N
44 |ED!3260:40) —do. — M26x4 BL "
45 (EDi34:00i80] — do. — M4ax8 BL "
46 ED3401i60 - do. — M4x16  BL "

# New Parts (F858)

-5 —




CP2s

Ret-| part No. Description £ & % Remarks  TI™ Markets
47 |EFi25103:50 Oval Head Screw M5x35  Cr Aom o ok s

48 EHI33:51!20] Truss Tapping Screw 35x12  BL A A

49 (Ei 330100 Bind Tapping Screw 3x10 BL RA KT IS )

50 |Ei:33.01:20 —do. - 3x12 BL " B

51 | Eii33:01:60 — do. — Ix16  BL "

52 |Eii33151:20 —do. — 35x12  BL "

53 Ei:33:5200 —do. — 35x20 BL " )

54 |EK0034!90] Nut JEAE—F+ou b B

56 |EM|23:01:20] Oval Head Tapping Screw 3x12 cr ALY vy EXT XD

56 |E0:33:52:00 Flat Head Tapping Screw 35x20 8L | MF v E> 7 o B
57 |E0:34 0160 —do. ~ 4x16___ BL u

58 |EVi10:i30i40, Hexagonal Nut M4 BL | KX B F v

59 |EVi20!30i40] Flat Washer 4s BL | F E & ]
60 |EVi40i00i90| Toothed Lock Washer A9S Ye w o B & ]
61 |EVi40:30i40 ~do. ~ A4S BL "

62 IEV 760200 Wing Bolt M6x20 # K

63 |LXi2000110| Fiat Washer 9 cr ¥ OB T E &

64 |LXi20/00:20| Hexagonal Nut M9 Cr BB AABF v b

65 Leg Pipe Moo a4 7

AAI05 2650

% MNew Parts (8



CP25

C. Top Board Assembly




CP25

2?' Part No. Description ®qoO& % Remarks C‘?Ar;‘;‘;?n Markets
1 |NAI10i70:60 Ciruit Board, PN #2892 PN > =
2 INAI10:70:70] —do.— , DM #2893 DM > -

3 INAI1070i80, —do.— , EFT #2884 EFT » — ¢t B

4 INA10i71110] —do.— , DC #2888 pc ¥ - s o
NAI10i71i200 —do.— , —do.— —do. — " e
NAi10:71:30 —do.— , —do.— — do. — " c

5 | AAI02:9040 Washer m7 oy oy or - R

6 |AAI05:24 70| Panel ~< * n

7 |AAI05 2480 Panel Stay Kok oA R F -

8 |AA05:26:00| Stay z 7 -

9 |AAI05:26:10| Stay Holder X5 -BE 4 A

10 |AAIO5 28 70| Switch Holder (B) SWHEZ & A B
11 |AAI80 5820  Spacer xR - ¥ -

12 |AAI81:73:80| Hinge o &

13 |BAI0T 5070/ Heat Sink E - 1 s v &

14 |CBi01:18:30] Busing 7 v v oa
15 1CB102:99:30| LED Socket LED ¥ & v ¢
16 |CB03:97 50| C.B. Holder Y= bk F —

17 |CBi04:00:80] — do. — "

18 |CB 07 i28:80| Insulation Busing 8/ Y v L oa
19 108 70100/ C.B. Holder Y-k Ry —

20 |CBi81:01:20{ Knob Y < N
21 iCCi0153140) Pane! Felt NRLEET b
22 |iF i00:02:90| LED L E D
23 |iL 000580 Mica Base T A AN~ Z
24 |DAI02 147:10| Top Board Assembly B B £ &

25 |EAI32 6080, Pan Head Screw M2.6x8 BL FoR o x D
26 |EB:34101:20! Flat Head Screw Mdx12 BL (- & %

27 |EC:33:00:60| Truss Screw M3x6 BL [ S S N S
28 |EDi33 :00:60| Bind Screw M3x6  BL | sS4 ¥ F b o
29 |Ei i33:00!80| Bind Tapping Screw 3x8 BL | ©M¥FovErsas
30 |Eii33:01:00 —do. — 3x10  BL "

31 |Eii3301:20 —do. — 3x12 BL "

32 (Eii33i61i20 —do. — 35x12  BL "

33 |Ei 33i51/60 ~do. — 35x16  BL "

34 |EMi45i03:i00| Oval Head Tapping Screw 5x30 BL |AESvErIx
35 |EVi20:30i30| Fiat Washer 38 BL | F B &

36 |EVi30i30:30! Spring Lock Washer 35 BL Yk E %

37 |EVi41i00i70) Toothed Lock Washer A7S Ye ® o B £
38 |EZ!30!70!10| Hexagona! Nut M7 Ye BHEXAF v
39 EZ!30i90i10, —do. - M9 Ye n

¥ New Parts (3#35&)



CP25

D. Keyboard Assembly

@




CP25

Sifv' Part No. Description E -2 Remarks C;;:é:??n Markets
1 |NBiD4:51:00, White Key Assembly E’ 2] # Assy
NB:04134:30 —do. — C,F "
NBi04:34:40 — do. — D i
NBi04 (3450 ~ do. — EB "
NBi04 (34160 ~ do. — G "
NB:04 134170 —do. — A "
2 NB§04§ Black Key Assembly 2 # Assly
3 INBiSO! Switch Unit 6 Key X4y Farzy b
4 NBiSO! —do. — 3 Key "
5 INBIS1| — do. — 4 Key "
6 [NBiST! Switch Assembly 33 Key Z 4 v F Assy
7 |NBi81 —do. — 28 Key "
8 |AAig0D: Guard, Stopper Rail AbyA-U-LEEER
9 |AABO! Stay (B) 2 F - (B)
10 |AAgt! Switch Rail XAy FL—n
11 |AA8T: Stopper Rail Zby -1 —n
12 |AAIB1: Key Stopper LI R
13 |cBio2! Support A b
14 |cBi02! Pivot Rubber € K v b oo 4
15 |CBi03! Key Stopper Rubber F—-R b wvsoN—-d4
16 |CBi03:97:80 Switch Cover R A4y F oA S -
17 |CB04:00i60 —do. — "
18 |CBi81:78i10| PC Support PC # # - ¢
18 |CCi02i15i30, Stopper Felt Zbwsk—7 b
20 |CC 070450 —do. — "
21 |CCi07:04i70 —do. — "
22 CCi07 i04:90 —do. — "
23 |CC 07 i05i10 ~do. — "
24 CD:010050! Key Guide Cloth $—-#4Fonzx
25 |CH!00 0290 Tube Between Mihite & E v F o1 — 7
CHi00 i03100] —do. — Berciey & "
26 |DAi02 :47:00| End Block Assembly (L) HF K% B (B
27 DA02 45! ~do. — (R) " €:2))
28 |EA03i01:20! Pan Head Screw M3x12  Ye LA S
20 IEAi04 01160 ~do. — M4x16  Ye "
30 |EAI05i01i60 —do. — M5x16 _ Ye "
31 |EAI05i02:00 —do. — M5x20  Ye u
32 |EAi35:03:00 —do. — M5x30  BL U
33 |EAI35i03i50 —do. — M5Ex35  BL "
34 |EJi03i00i60; Pan Head Tapping Screw 3x6 Ye FRIvELT XD
35 EJ:03i01:20 —do. ~ 3x12 Ye "
36 |EQ:i03!51:30 Round Head Wood Screw 35x13  Ye Aok A T
37 {ES:i04:01i20| Tap Tight Screw 4x12 Ye
38 |ES:04:01i50 —do. — 4x15 Ve "
39 |ES:04:02i00 —do. ~ 4x20  Ye "
40 |EVi20i30i50, Flat Washer 55 BL | F E &
41 |EVi30.0050 Spring Lock Washer 55 Ye Nox B &
42 |EV:30:30i50 — do. — 55 Bl "
43 |EV:42:00140] Toothed Lock Washer B4S Ye w 4 B &

% New Parts (§7# &1 &

)

—10 —



CP25

E. Sustainer Pedal

©

—11 =



CP25

Ref.

iCommon

No. Part No. Description B & & Remarks Model Markets

1 |NBI03 71:40 Tablet Switch ™ STy b ALy F

2 |AA80:32:40 Pedal ~ 5 n

3 JAAI80:32 50 Pedal Holder AR B

4 AAB032560 Pedal Spring X OF oA s

5 |AAI80i32170 Frame A

6 |CA80:04:50 Fiber Washer TFAN=T e~
7 |CBiB0:67:40 Pedal Box X 5 o R & )
8 CB:i80:67:50 Bottom Plate & #

9 |CBi80i8360 Switch Cover B A o N - )

10 |Mi01:42{20] Cord Assembly 2 - ¥ T
11 |EAI03101:20 Pan Head Screw M3x12  Ye | F ~ % u }

12 EAI05i02i00] —do. — M5x20  Ye " o

13 |EB 0300 80| Flat Head Screw M3x8  Ye |m o x B

14 |EVi98:04i90| Bolt M5x40  Ye | X B K b

15 |EVi10i00:50 Hexagonal Nut M5 Ye | X B ¥ v b

16 |EVi30:00:50, Spring Lock Washer 5S Ye | 2 m 0og

17 |EVi20100:30| Flat Washer 35 ve | ¥ s & ]
18 — do. — 5S Ye "

EVi20:00:50

% New Parts (#3851 &

Y
J

—12 —



CP25 SERVICE MANUAL

1981412 A Ik

%47 B AARBMERARME
BET— HE

ETRERY T e

N=YURY BB

A X R RRSHT V- R
WEBEXENR] P EVE T EDRIER




